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I.88+9 380,547 80.5% |[I.YYHE 250,289 79.0%
BE55sE 226,672 47.9% bt 124,985 39.4%
A5 0| X} 38,642 8.2% C&a 2| 37,155 11.7%
AL =2 8,531 1.8% H 2T ST LA 23,489 74%
=AU AIE =< 2,153 0.5% DHZQIEFTEIYT YN 1,134 0.4%
AF=A =2 404 0.1% SHEMERHE 234 0.1%
Ol A ZH| F 2t 33,539 7.1% MSH=zH& 27,916 8.8%
SHES9 45,143 9.5% SHSH8 31,427 9.9%
RSNl 5,336 1.1% SHHMAZFHZHLYN & 3,949 1.2%
MSH a2 20,127 43% |O. FYULAHE 11,108 3.5%
o. 3gel+=9 92,253 19.5% fEHS 10,701 34%
Ol = O At 30,886 6.5% SRRt EERE S 407 0.1%
®7ISHOIRt 5 45,697 9.7% |m. "HRINHE 55,574 17.5%
a8FATY 2,037 0.4% HI& 27 316,971 100.0%
X|2gol & 13,633 2.9% g71z0]9f 155,829
o a4 472,800 100.0% A 472,800




